AL RE 1239

=

2
6

oo
rlo

=
K

@ 09 AlEE2 0ol

@ 36 ©] A& 6 ol

® -16 o] AlFL-L -4 o]},

@ 4 9] ZO] AlFLL -2 ot

© /(-4)% o o] AlFTL 4 o[t



2.

® V2

@ 8

® 7

@ V3

@ o



-a?2 = —-a

(a)? =

a2

D -

(—a)? = -a

=-a

B} -

® Va®=a



EX

=]

215, =2, V25, =5, 33

@ 25, V23
@ 343,25

@ 25, -V2
® 3v3, V23

® 2v5,-V5



ohe Al Bl x o] gro] Fel4el AL

9 81
DO x*=25 @ x*= ) @ x2=0.0016
3 49
2



op

@ % 225 V5 2 V6 Aololt #4:4

® V5 ol 71 7Pk s 2 ol

=
pu—

A fef 4ol g, A& ok

©® %9k 544 Sle] 4 Aol U



4z

B 22 Jga o, A dxjo]

thgof S0l £E5 7|7 A2 A
Sgshes A2

T

O V5+ 2 @ -5 3 _2
@ V5+1 ® —2-15



8. a<0<¥ ], V8la2 + (-V3a)? + \/(-0.5a)2 x < \/?)2% A Ako}

i

D 0.142-3 @ 0.1a2+3 ® 0.54%2 -3

@ 0.5a° +3 ® a®>-3



9.

V3n ©] 2 ¢k 4 Aol o] L7t B A| Shi= A4 n O] Mg B AAA7R?

@ 17 @ 271 @ 37 @ 4 7 ® 574



o|J
158
ol
ofg
Nlo

op

./~ o~ T~

~—

—_ = = =

—~

— —~ - —

~—

—_ = = =

—  —  ~— ~—



11. o2 299 34 949 H A, B, C, D 9 H-&st= =& 27
abc,d 1 W a+b+c+dF2? (F, By 2 AL
o7} 1 Q1 A oltt)

I~
™ Yy y
-1A 1 2 3 4B C7 8 D10
@ 13 ® 17 @ 20 ® 24



12.

E AL G b7ta=VT-6,b= 3+ V7L O, }& & 2& AHL9
[1 ]
H7]
QD b-a>0 © a-b<0 © ab<0

® a+3<0 @ b-V7<2

ORQ) ® 9,0
® 60606 ® 9,06,6
® 0,6,6,6,0



13. VoxaV6=18, Vix Vb=15, ﬂ:\/_+l—coowﬂ’q
'E%Z]O].

o =
=Ny
D a<c

® b<a?+c?



x+7

14. x=3+ V24 o,
x—-3

o e

D -1+5v2 @ 1-3v2 ® 1+5V2
@ 2422 ® 2452



15. oh IelA A2 A, B, C & 25 AAZE0l R, 7} A2
w0l Abolel= B € o] 28, A = B o] 2 uj3l T} Qlrkn

A o] Hol7t 2ecm? A o, € 9] g HO| Ao=?

S
2 I

A
B 1 ¢
1 1 V2
@ 7em @) 5 cm —om
V2 V2
—cm ® —cm



